6th Grade (Procedural) Unit 3, Quiz #1 Name ke v/

[
Answer completely and show all work
1. Simplify each expression.
a. 3+12:5+(16-7) b.9-3+8+2—(17+8)
reoce_ o 27 +4 -25 =0
3+i0 T 2 -
c. 3(16-9)+14+7 d. 4-45+(27-8-3)" =10
: e 0
2l v2=2% LdQ ~(27-24) ~ 2 )
S (U= (%)~ 10 = 2=
2. Insert parentheses when needed to make each sentence true.
a. 5+12(3-1=29 b.36+12-5+9=7
3 =
Vone weelded
3 Evaluate each expression.
a. 3a—7 whena=6 b. -26+10 when b =3
V- =) ~91—(()9_1:L
(o %+8 when ¢ =12 d. il’—;}iéwhend=l6
3+ =) 21 _
— 7 - 1
4, Evaluate each expression for x =6 and y =10.
a S5x-2y b. 3+4y—6x
Y0-2w = () 3+40~2hp = |
5. Write an algebraic expression for each verbal expression.
a. Eightless than twice some number.
Iy~
e S col

b. Two more than the quotient of x and 5.

Z‘.A—?,

-
c. The product of a number and 6 times y.

&Gy)  or %(L-‘D

6. Use substitution to determine which number in the given set is a solution of each
equation: {0,1,2,4,5,7,9,10,12}

X
a.3x—-13=8 b. —=+6-x=0 W =
X="] 3 _j
—/—-_—‘
c. x>-2x+5=13 d. 18-5x=x+6
g —&* £ = 2

X = 4 -
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Answer completely and show all of your work.

Hayden'’s parents are planning a birthday party for
his little brother, Austin. Hayden is confident in his
math skills and wants to help figure out the cost. He

has enlisted your help with the calculations. Here is Py snt;glltgﬁ“é‘
what is known so far: Centet
v e The site, Jump ‘n Jammin charges $325.35 for

up to 20 kids for 3 hours.

v o They expect to pay $45.50 for decorations.
— o For extra supervision, they hired their babysitter at $12.50 per hour.
4o Food and refreshments will cost $6.25 per person.
—eo The Puppeteer will be there from the beginning and charges $64.85 plus $29.90 per
hour.
e Grandma pitched in $150.00 to help ease the total cost of the event.
e Between friends, family, and Austin himself, they are expecting 17 kids to be coming.

1. Use the Distributive Property to write and expression to find the cost of the
babysitter and Puppeteer. 12 <o |\ + LY.+ 29.90h

6Y. 0+ Ly (2.5 +2%.9)
2. Simplify the expression you wrote for #1 to find the cost of the babysitter and the
Puppeteer. @CW=2 (Yy.e5+ 3('—(2.‘43
LY.+ 121.2 = $192.05

3. How much will the food and refreshments cost?

Q_ZJ'(I"D =$1p0¢ 2C

4. Write and expression for the total cost of the party after grandma’s assistance.
J4 B3 ] ia 192.04 1
3 - ol 270,85 + 106.20° “,?‘,,y

D-CC'-L'J-JU 296§ 30 s — -1 §0D.

T < 29¢ .30 470 &
5. How much money will thié p"arty eSst per child attending? & $19. 1

SRS 2§30 0y

17

6. Write a note to Hayden with the expected cost per child for this party. Use the
information provided and your solutions from #1-5 to support your conclusion.

Answerr will very b o+t Speche Mmbery end reJ%ﬂw"l/fu
Shavid be noded.

7. Based on all of this information, would you advise him to go through with the party
or suggest doing something else for his brother? Explain your reasoning.

Acswerr wll very Per hopr e corld be done v gy
£20 per child .




